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1) Which of the following is a true statement?


A) The lumen of the GI tract is technically considered “outside” of the body.


B) Mechanical breakdown of food begins in the stomach.


C) The function of microvilli is to sweep food toward the large intestine.


D) All of the above are true.


E) None of the above is true.
2) Which of the following is a true statement?


A) Bile is synthesized in the pancreas and stored in the gallbladder.


B) Peristalsis is the rhythmic contracting of the circular and longitudinal smooth muscle.


C) HCl is needed to activate amylase.


D) All of the above are true.


E) None of the above.
3) Which of the following is a true statement?


A) Gastric ulcers are open sores in the walls of the stomach.


B) Absorbed nutrients travel to the liver before anywhere else.


C) Pepsinogen is incapable of breaking down nutrients by itself.


D) All of the above are true.


E) None of the above is true.
4) True or False?  The pancreas is a gland that secretes some substances into the blood.


A) True


B) False 

5) Which of the following is a true statement?


A) Amino acids are absorbed via a symport with Na+.


B) Fats are absorbed via a symport with Na+.


C) Carbohydrates must be taken up by the lymph vessels once absorbed.


D) All of the above are true.


E) None of the above is true.
6) Which of the following is a true statement?


A) The pancreas and the gallbladder secrete substances into the stomach.

B) Cells lining the small intestine secrete digestive enzymes.


C) The surface area of the GI tract is about equal to that of your skin.


D) All of the above are true.


E) None of the above is true.
7) Which of the following is a true statement?


A) The only function of saliva is to lubricate the esophagus.


B) Amylase is release only from the salivary glands.


C) Amylase is an enzyme that only breaks down polysaccharide molecules.


D) The enzyme bile, breaks apart fat molecules by breaking bonds.


E) None of the above is true. 

8) Which of the following is a true statement?


A) Gravity is the only way to move food from your mouth to your stomach.


B) Secretory cells in the small intestine produce digestive enzymes to break down disaccharides.  


C) Breaking down nutrients to very small molecules is helpful but not necessary for absorption.


D) The pyloric sphincter allows 20 teaspoons of the stomach’s contents to pass every second.


E) None of the above is true.

9) Which of the following is a true statement?


A) Mucus is needed in order for pepsinogen to be converted to pepsin.


B) Stomach acid is released by chief cells.


C) Carbohydrates are broken down mostly in the stomach.


D) The stomach can hold as much as a gallon of ingested material in some individuals.


E) None of the above.

10) Which of the following is a true statement?


A) The main function of the large intestine is to digest nutrients.


B) The main function of the large intestine is to absorb monosaccharides and amino acids.


C) Beneficial bacteria that make vitamin K reside in our large intestine.


D) All of the above are true.


E) None of the above is true.

11) Which of the following is a true statement about luteinizing hormone (LH)?


A) It is released by the pituitary gland.


B) It causes follicle development and ovulation in women.


C) It causes stimulation of testosterone from Leydig cells in men.


D) All of the above are true.


E) None of the above is true.

12) Which of the following is a true statement?


A) Sperm are created from Sertoli cells in the epididymis.


B) About 99% of semen is actual sperm cells.


C) About 300 million new sperm are formed each day.


D) All of the above


E) None of the above

13) Which of the following is a true statement?


A) The scrotum is essential for keeping the testes warmer than normal body temperature.


B) A seminiferous tubule is about as long as a pencil.


C) There are 3 chambers in the penis that fill with blood to cause an erection.


D) The penis is the primary sex organ of the male.


E) A normal male has only a single epididymis.

14) Which of the following is a true statement?


A) Sperm have most of their mitochondria in the head.


B) The flagellum (tail) of a sperm is essential for ejaculation to occur.


C) The head of a sperm contains mostly digestive enzymes for eating a hole in the zona pellucida.


D) All of the above


E) None of the above

15) Which of the following is a true statement?


A) The prostate gland secrets fructose and other nutrients to aid in the sperm’s survival.


B) The bulbourethral gland secretes bicarbonate to neutralize vagina acids of the vagina.


C) There are two seminal vesicles that secrete substances into the Vas Deferens before the prostate. 


D) All of the above are true.
E) None of the above is true.

16) Which of the following is a true statement?


A) A woman releases about 400,000 ova (eggs) in her lifetime.


B) The myometrium is the thick muscular wall of the uterus.


C) The ovaries and the uterus are connected by the cervix.


D) Once released, the egg lives only about 4 days.

E) None of the above is true.
17) Which of the following is a true statement?


A) After ovulation, the remains of the follicle’s covering become the zona pellucida.


B) The corpus luteum secretes LH and FSH as long as fertilization doesn’t occur.


C) The zona pellucida starts forming before ovulation has occurred.

D) Estrogen and progesterone feedback to inhibit growth of the endometrium and increase LH levels.

E) None of the above is true.
18) Which of the following is a true statement?


A) Steroid hormones are derived from cholesterol and can pass right into a cell to have effects.


B) Peptide hormones are derived from amino acids and can pass right into a cell to have effects.

C) The pituitary gland secretes cortisol which increases the burning of fat as fuel. 


D) Thyroid hormone lowers body temperature by making energy production less efficient.


E) None of the above is true.

19) Which of the following is a true statement?


A) A decrease in Ca2+ levels in the blood will cause the release of calcitonin from the thyroid gland.

B) Oxytocin is released by the uterus during times of stress.


C) NE and epinephrine are released from the adrenal cortex during times of stress.

D) All of the above are true.

E) None of the above is true
20) Which of the following is a true statement?
A) Testosterone is made by Leydig cells.

B) Testosterone is made in women.

C) The adrenal gland makes both steroid hormones and a amino acid-based hormone (Epi).

D) All of the above are true.
E) None of the above is true.
 21) Which of the following statements is true?

A) A decrease in blood glucose causes glucagon to be released from the pancreas.

B) Insulin causes the liver to break down glycogen to glucose.

C) The adrenal gland produces glucagon.
D) All of the above are true.

E) None of the above is true.
22) Which of the following statements is true?

A) Regulating hormones of the hypothalamus control secretory cells in the anterior pituitary.
B) ACTH is released from the hypothalamus.

C) Prolactin causes muscle and bone growth.

D) All of the above are true.

E) None of the above is true.
23) Which of the following statements is true?

A) Thyroid hormone is released by the anterior pituitary gland.

B) Thyroid hormone causes mitochondria to be less efficient.

C) Thyroid hormone released is increased when the body is hot.

D) Magnesium is needed to make thyroid hormone.

E) None of the above is true.
24) Which of the following statements is true?

A) The adrenal glands atop the kidneys.

B) The adrenal medulla produces cortisol.

C) The adrenal medulla produces aldosterone.

D) All of the above are true.

E) None of the above is true.
25) True or False? If a man has his Vas Deferens tied off (a vasectomy) he will no longer be able to ejaculate semen?


A) True


B) False
Short Answer Questions

25) (8 pts) Where does human chorionic gonadotropin (hCG) come from and what effect will it have on the levels of progesterone? 

26) (12 pts) Desiree has chronically low levels of calcitonin.
A. What gland does this hormone come from?

B. What symptoms will Desiree suffer from?

C. Why can’t Desiree simply ingest a pill of calcitonin to bring her levels up?

25) (8 pts) Wally has a rare genetic disorder.  The only result of this disorder is that Wally has no villi or microvilli in his small intestine.

A. How will this affect Wally?

B. Why would he have excess flatulence and diarrhea?
26) (15 pts) Give 5 reasons (with explanations) why Greg’s life would be different if he had no stomach.

1.

2.


3.


4.


5.
27) (7 pts) Even though only one sperm will fertilize an egg, why does it take more than one sperm being released from a man for this to occur?

Extra credit) (4 pts) The hypothalamus ultimately controls the levels of thyroid hormone.  It releases Thyroid Releasing Hormone which causes the pituitary to release Thyroid Stimulating Hormone which causes the thyroid gland to release thyroid hormone. What is the advantage of having so many steps instead of just having the hypothalamus release thyroid hormone directly?

Have a great Winter Break!
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